Microeconomics II
Homework#2
Spring, 2008
Due day: 4/8
I. Multiple choices(40%)
1) A profit-maximizing monopolist will never operate in the portion of the demand curve with price elasticity equal to 

A) -3. 

B) -1. 

C) -1/3. 

D) None of the above-the price elasticity does not matter.
2) The fact that a monopoly has to take the shapes of marginal cost AND marginal revenue into account when making decisions is reflected in the fact that 

A) monopolies don't have a supply curve. 

B) monopolies don't have a demand curve. 

C) monopolies have the same supply curve as perfectly competitive firms. 

D) monopolies maximize profit.
3) The existence of a deadweight loss associated with a monopoly can be seen because 

A) consumers are willing to pay more for the last unit of output than it cost to produce. 

B) the cost of the last unit produced is more than consumers are willing to pay for it. 

C) the producer surplus is larger than in a competitive market. 

D) None of the above.
4) Which of the following total cost functions suggests the presence of a natural monopoly? 

A) TC = 2Q 

B) TC = 100 + 2Q 

C) TC = 100 + 2Q2 

D) All of the above.
5) If the government wants to regulate a natural monopoly it will force the firm to set price equal to  

A) average cost. 

B) marginal cost. 

C) marginal revenue. 

D) None of the above.
6) Quantity discrimination makes sense if 
A) buyers of smaller quantities are more price sensitive than buyers of larger quantities.
B) buyers of smaller quantities are less price sensitive than buyers of larger quantities.
C) demand for the good is perfectly elastic
D) the lower price for larger quantities encourages all consumers to purchase the larger quantity.
7) 
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Bob is the only carpet installer in a small isolated town. The above figure shows the demand curves of two distinct groups of customers-residential and business. Bob is likely to price discriminate because 
A) elasticities differ across markets.
B) the installation of carpets cannot be resold.
C) Bob can probably identify which consumers belong to which segment.
D) All of the above.
8) Coupons represent a form of price discrimination because they offer a low-cost way for firms to
A) identify customers with apparently more elastic demand and offer them a lower price.
B) retain loyal customers who are not price sensitive.
C) offer discounts to consumers who buy larger quantities.
D) perfectly price discriminate.
9) Suppose all individuals are identical, and their monthly demand for Internet access from a certain leading provider can be represented as p = 5 - (1/2)q where p is price in $ per hour and q is hours per month. The firm faces a constant marginal cost of $1. If the firm will charge a monthly access fee plus a per hour rate, the monthly access fee will equal
A) $1.
B) $5.
C) $8.
D) $16.
10) Suppose all individuals are identical, and their monthly demand for Internet access from a certain leading provider can be represented as p = 5 - (1/2)q where p is price in $ per hour and q is hours per month. The firm faces a constant marginal cost of $1. The profit maximizing two-part tariff yields results in the firm selling
A) 4.5 hours.
B) 10 hours.
C) 5 hours.
D) 8 hours.
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II. True or False(30%)
For the following, please answer "True" or "False" and explain why.
1) A perfect-price-discriminating monopoly maximizes social welfare as measured by the sum of producer surplus plus consumer surplus.
True. Unlike the competitive market, however, social welfare is all producer surplus. There is no consumer surplus. Thus, while a perfect-price-discriminating monopoly is efficient, many are troubled by it based upon distributional issues.
2) Since there are no close substitutes for the monopoly's product, the monopoly can charge any price it wishes.
False. The monopoly is still constrained by the demand curve, which reflects the price that people are willing to pay for the quantity produced.
III. Problems(30%)
1) A weapons producer sells guns to two countries that are at war with each other. The guns can be produced at a constant marginal cost of $10. The demand for guns from the two countries can be represented as:
QA = 100 - 2p

QB = 80 - 4p
Why is the weapons producer able to price discriminate?

What price will it charge to each country? 
The firm can price discriminate because there are two identifiable segments with different elasticities. Since the two countries are at war, resale is doubtful. To solve, find marginal revenue for each and set equal to marginal cost of $10.
MRB = 20 - (1/2)QB = 10 or QB = 20 and PB = 15.

MRA = 50 – QA = 10 or QA = 40 and PA = 30. 
2) Suppose that market demand for a good is Q = 480 - 2p. The marginal cost is MC = 2Q. Calculate the deadweight loss resulting from a monopoly in this market.
First, solve for the competitive equilibrium by substituting MC for p in the demand equation and solve for Q. Q = 480 - 2(2Q) = 480 - 4Q. Rearranging yields 5Q = 480, or Q = 96. Since price equals marginal cost, p = 2(96) = 192. Second, solve the monopoly output by setting marginal revenue equal to marginal cost. Rewrite the demand curve as p = 240 - 1/2Q so that MR = 240 - Q. Setting MR = MC yields 240 - Q = 2Q or Q = 80. For this quantity, a monopoly can charge a price of 200 and the marginal cost at that output level is 160. The deadweight loss is [(200 - 160) * (96 - 80)]/2 = 320.
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